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Birzeit Univ rersity
Mathematics Department
Math 330

Second Exam Second Semester 2016-2017
Student Name: ....ooveruvieoeeeno Number:................ Section ............ Instructor .....
Question 1 (5+35 points).

(7) A natural cubic spline 5 is dofined by

(r) = {S{F) =1+ Az 1) - Bz — 1)},
$1T) =1+ C(z - 2) - 3(z — 2)? + D(z — 2)3,

If § interpolates the data (1,1).(2,1) and (3,0). find 4,B,C,D.
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N\ — 4 - =x <
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tn

1<z<2
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—-’D{X’?j, 24X =73

- — g —"‘—5 __—_—- :
Shw = SV = —dB= |
\\ = —
SW=<"3 -0 ey ~2 + D=0 = [D=L]
{b) Use Newton interpolation polynomial with nodes Ty — i
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Q) [15 points| Giv : 2
[15) ] Given the data: 35| with J/(0) =2 and f/(2) =3

Set up t. i s ;
1 the equations for the clamped cubic spline that interpolates these data.

(Do not solve the equations)
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2

Q#2 (12points)Consider the daia {1.1,0.4238),(1.2, 1.003), (1.3,1.662)

2- Using the above data, Find the best fit of the form F(x) = Ax® + Bcosx Using Linearization.

5- Find the Normal equations when estimating the a2bove data using a function of the form
f(x) = Ax5 + Beosx
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Q3) [20 points] Consider the points (1, —2), (2.5, —1.6), (4, 0).

Acos + B C
(a) Find the normal equations of the least-square curve of the form y = LasR L) el
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Acos(mx) + B
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(b) Use linearization to find the fitling curve of the form y =

o T
’L‘(—_\‘(a\ O \‘*k\ \Tﬁtﬁ
W |\ o \\ T—o \b
} \ N N — Y 5

O G N— — - .

" e,
NS X 22 om T
= k.
2By 6 =2 =y A=) \
, 2 R ~ —6 = £ =~ \
i

&%a@m

§ R I R

STUDENTS-HUB.com Uploaded By: anonymous




